OSDAY Public School, Kaithal
November Exam (2024-25)

Class: VII SET-A
Subject: Maths
Time: 1 hr 20 min. M.M.: 30
General Instructions:- All questions are compulsory.
Q.No. Questions Marks
Section -A
1) g of a number 25 is 1
(a) 25 (b) 10. (c) 35. (d)7
2) The H.C.F of 16x%y and 4xy?z is 1
(a) l6xy (b) 4%y (c) 4xy (d) 16x%yz
3) How many lines of symmetry of an isosceles triangle has? 1
(a) 3 (b) 1. (c) 2. (d) 4
4) Ox?y*zis a. 1
(a) Monomial  (b) Binomial (c) Trinomial (d) Equation
5) Assertion: A cube has 6 square faces. 1

Reason: A cube is a 3-D shape with equal length, width and height.

(a) Both assertion and reason are correct and Reason is the correct explanation for assertion.
(b) Both assertion and reason are correct and Reason is not the correct explanation for
assertion.

(c) Assertion is true but reason is false.

(d) Both assertion and reason are false.

Section -B
6) If 4x-3= 21 ,find the value of 2x-5. 2
7) Factories: a’+2bc+2ac+ab 2
8) lines 1 and M are the lines of symmetry of the line segment XY and YZ respectively. If 2

XA=3.5 cm and YZ=6cm.find AY and YB.

=

X Al Y ' B Z
! :
9) When 4 is added to eight times a number,we obtain 60.Find the number. 2
10) Find the product of 11 a(ZbZ-% a’b?) and then evaluate a=1,b= -1 2
Section -C
11) Draw a Tetrahedron. How many faces, Edges and vertices of a tetrahedron have .and also 3
write the shape of its faces?
12) Solve it: g -3=5+ g and also check the answer. 3
13) (1) Draw a rectangle. Also draw the line of symmetry.. 3
(i) Write two English alphabets having two lines of symmetry.
14 Find the product of (3x*+5xy-7) (x+5y) and verify the result if x=2, y=-1. 3
15) The length of a rectangle is 6 cm more than its breadth. If the perimeter is 48 cm. find the 3

dimensions of the rectangle.
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OSDAY Public School, Kaithal
November Exam (2024-25)

Class: VII SET-B
Subject: Maths
Time: 1 hr 20 min. M.M.:30
General Instructions:- All questions are compulsory.
Q.No. Questions Marks
Section -A
1) A Circle has 1
(a) 3 lines of symmetry (b) 1 line of symmetry
(c) 2 lines of symmetry (d) Infinite many lines of symmetry
2) Ox?y?z +3xy?z 1s a. 1
(a) Monomial (b) Binomial (c) Trinomial (d) Equation
3) atatata= ---—--- 1
(a) a* (b) 4a (c)a (d) 4a*
4) The H.C.F of 25xy? and 15xy?z is. 1
(a) 5xy? (b) 10x%y (c) 5xyz (d) 10x%yz
5) Assertion: A Square pyramid has 5 faces. 1
Reason: A Square pyramid has one square base and 4 triangle faces.
(a) Both assertion and reason are correct and Reason is the correct explanation for
assertion.
(b) Both assertion and reason are correct and Reason is not the correct explanation
for assertion.
(c) Assertion is true but reason is false.
(d) Both assertion and reason are false.
Section -B
6) When 9 is subtracted from five times a number the result is 71. Find the number 2
7 Find the product of (5x?) (12x2y) (23—0 xy?) and then evaluate x=1,y=2 2
8) If 4x-3=21. Find the value of 2x-5. 2
9) Factories: x*+3yz +3xz +xy 2
10) N .m 2
lines | and M are the lines of symmetry of the
line segment XY and YZ respectively. :
If XA=2.5cmand YZ=4cm.find AY and BZ. A L = %
Section -C
11) Find the product of (3x>+5xy-7) (x+5y) and verify the result if x =2,y =-1. 3
12) (1) Draw a Square and draw its line of symmetry. 3
(i) Write two letters of English alphabet having One lines of symmetry
13) Solve it: 2x - ; = % -x and also check the answer. 3
14) The length of a rectangle is 10 cm more than its breadth. If the perimeter is 100 cm.Find 3
the dimensions of rectangle.
15) Draw a Cuboid .How many faces, edges and vertices of a cuboid have? What is the shape 3
of its faces?
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OSDAY Public School, Kaithal
November Exam (2024-25)

Class: VIl SET-A
Subject: Maths (Marking scheme)
Q.No. Questions Marks
1) (b) 10 1
2) (¢) 4xy 1
3) (b) 1 1
4) (a) Monomial
5) (a) Both assertion and reason are true and reason is the correct explanation of 1
assertion.
6) 4x=21+3 1+1
4x=24
X=24/4
X=6
2x-5=2(6)-5
=12-5
=17
7) = a’+2ac+2bct+ab 1%
= a(a+2c)+b(at2c)
~(a+2c) (a+b) 7
8) N ¢ M_JZLM#W@—%f Xy L
I 7 = . ao— At
A AV R Sy, —— Y2 (For
(2 lotted fivie oo Fow /&M ‘ Bypammralig) reason)
12) s Ahe Mime of Symonedng of YZ
o e — e
MXB= 3 com. = o
(- Aotlecd _Cine s .
N e L N B A ——
9) Let the number= x Y
A.T.Q
8x+4= 60 1
8x= 60-4
8x=56 1
X =56/8
x=7 1,
10) Tl lalPn= 5 o= y R g DR
[= , = = = I
__—2—9—0—6 = 7b — 141
”fg/‘pﬂ é‘ c az“: >
e P e E - T = X
JMtﬁ’—J) = :é// = 20 =
%%((' DD~ 3(L),(;"7)ﬂ/7 i
= 2= T
= == I -
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11) 1+
Y, x4=2
12) Lz).ﬁzg_z —= =——= a3ar :
= ___% = s = ]
- - — — 1% +
= '&)—g*é?u E= = = = 1 1/2
\")é( = = e}
== 437—— g.;? <X & — _‘
e
=1 e =2 P S S = —
= == T
7 2\\ - 9‘\ = L
(-t A-S — 2 -VA-S P S = —
*IAM:._\J_-% — —
13) ,
A = 2+1
D | '
|
— X _ — | — oy e =
0 ' n
D 1 U
I
/szfm?&: 2 Miraa
‘ % J d
A -
X O H fove fuww Minea %_Aémaz&&?,
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14) S
J\A\-l (D ‘5:%—ﬂ\ (e =+ =a\
Mﬂwb%:
= A A VST, :-pé%_.- e — Tl — DSy
| NIew\ Ly = —~x~—— D S . S
i T T s
( T+ y E : ( ?_;: _‘_:gz = : )
Gae=sx-1y @ ]l (EeaxeX=Y) —Cx) | +1+1
C=xya + o= 12\ - &=x—1\
24(==5)
= Ade-\o-1) (=2-=) = oU\4+ Q) +ha— 4y
— - = — -_.::,Lllﬁﬁ—~,
= (—=p<=) = 2u— Dot Ho— 1A
15)
1
| VR
Lt 2 = 36 . B 1
= e & 1%
%
| D= . — e Ya
— - = s > e T
_z.wa?az———_q;f-_é—
= 15 ey
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OSDAYV Public School, Kaithal
November Exam (2024-25)

Class: VII SET-B
Subject: Maths (Marking scheme)
Q.No. Questions Marks
1) (d) Infinite many lines of symmetry 1
2) ( b) Binomial 1
3) (b) 4a 1
4) (a) Sxy?
5) (a) Both assertion and reason are true and reason is the correct explanation of 1
assertion.
6) Let the number= x Y
A.T.Q
5x-9=171 1
5x=T1+9
5x= 80 1,
x = 80/5
x=16 1,
So, the number=16
7) pi ot 3 2 2
- LSXWKZ}O) szxx xx) [5"3) 1
— 5 _3"
= q ¢
Evatlucote
qxsgz = q [,)s (9.)8
= ac (&
= 2 1
8) 4x=21+3 1
4x=24
x=24/4 =6
2x-5=2(6)-5
=12-5 1
=77
9)
= X +x0-\-3%51—3xo 1Y%
4 ty )+Bz (xtq )
X (x :33 Sz ixtd |
= —
__(vx—l—%\, (Xt 3%7) iz
10) <) B~y - ———
R o in dhe Rione. 1/2 +1+
——=8 =25 com - —— Y2 (For
S BOcANe® Rime e e . Riroe. > reason)
;e S — =
1 T estbocd Qime o the S ime XK. . DayoermelSoas D
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11) : 1+1+1
M (AT S -1 (oo =+ =)

= NV BSoegylao xS — —l(én:\'_bsal—_—__r
e = = —

e A 2oy D e ‘ﬁa — 1o — e

ll i

Nier A\ £y S = D Ly = — \
pm——m = o | >

e LSS [SUTON 5
+ . - (E@&x22) Fax2 -\ +
| (Paxe ®-Y>\ w2 |

-— — —

| L=y =+ = o= T\ = @57&—\\
2a4(==)
= A-—\va-T) (2-=) — ol\4+- O\ +Ho— \\
= (N2 -\V(2—-x5D - (—==)
L= 5= 2) = 2\— ot SHo— "\ N
= = e :55—_—. q. ?“ S

L\ S = = S
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12)
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/
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Yt Pe Cemon AP = mecdang Bo, = s inos
14) 1 ——;&&?j:e‘_ ————— =Xl cnn 1
1 @oiionotos. - o g +b>
1 AT =
12 (xx+t=xrloo) = 1Too com R -
=4 == = = -
He = \oc-—2o
L > = | - e
—
XX=2o
1 Posron AR, Aé ooedonafoesr = P > cocrr
Z =20 1o
2
15) 1+
Faces: 6 4 , 1x4=3
Edges : 12 N
Vertices : 8 ] f
Shape of its faces: Rectangular |
[¢ %
F H
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